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1) QuNBSZS.

a) HleLGeomiuflwm - 1) emeul L iflest D

b) Qurfl Quifl - 2) emeul_LiSlest B6

C) Spsole@uim wBeodlwm - 3) emeulLidlest A

d) QuijwrenLigsn - 4) emeul Lislest Bl

A2 3 41

B.3 41 2

C1l2 3 4

D.4 1 2 3

Match the following:

a) Nyctalopia - 1)Vitamin D

b) Beri Beri - 2)Vitamin B6

c) Osteomalacia - 3)Vitamin A

d) Dermatitis - 4)Vitamin Bl

A2 3 41

B.3 41 2

C.l2 3 4

D41 2 3

2) SipsaevsTLeummie Fflwne Fanenm CaiHOS®E.
1) sevedyevmed &IHESLILEL emLsd eTestLg @Quiflw
QanpLuLsemeT AMlwgns LIHMILD.

2) Q&flonessdHeo elfi(has, Heflanmev HMID
Q&MIpLIL HHLE6VHISET 48 IHMISHlETMEDT.

3) wBwmeestEH(E& QevrLienuuilssT FHL6L Siem6svey
aflen&wimsy 2 et QFLEMG).

A 1&2

B. 2&3

C.1&3

D. siemesisgiid

Choose the correct statement.

1) Bile, secreted by the liver helps in breakdown of
bigger fat particles

2) In the digestion process, lipids gets converted
into glycerol and fatty acids

3) Food movement into the duodenum is through
the peristaltic action of the walls of stomach

A 1&2

B. 2&3

Learning Leads To Ruling

C.1&3

D. All

3) sflwnest Faphenm CHIHOS(H.

) LeoqwnGLmil@eorm L&F snsssv  Crmemw
THUOSSIES-

2) gl SiBhgleIG S6veSTed QFD NFSSNIBS
SITJ6soTLDM(GLD.

3) eeorLSLIT anflev@LellEsT iSlE 5 Cudenw
THUOSSIES-

A 1&2

B. 2&3

C.1&3

D. Siemes1sHgIbd

Choose correct statement.

1) Triatominae bugs causes Chagas disease

2) Consuming alcohol leads to liver cirrhosis

3) Endamoeba Histolytic causes Amoebic
dysentery

A 1&2

B. 2&3

C.1&3

D. All

4) seupns QUNBHSHWsTeneng CsiHOS M.

a) gl — emsrTéenslest

b) (petruym LW Lifl — s igeneutdlr ammyGLomest
c) etrym w1 ifl — sun@sromigenSlest

d) @il fleoted &ML QLGN — =1L ifleoellesT

A. b oG

B. c Ll [Hb

C.b&c

D. s1gleyb Qsvemev

Match the following.

a) Thyroid — Thyroxine

b) Anterior pituitary — Luteinising hormone

c) Posterior pituitary — Vasopressin

d) Adrenal cortex — Adrenaline
A. bonly
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B. conly
C.b&ec
D. None

5) QUS55

a) aflen&0\sesaTE6wETI — 1) FlFMoD G6tuTiodLD

b) B6vGI6VEsTTGIETETL — 2) HHFMYQTEHLIT Q6sTTipsHT

c) GeuLiLl eTevoT@6TOTIL — 3) SUTMESHEV emaGUTSlwi
d) sLen6v eTestTO6TETL — 4) GpFlevTeny Sibulesflsin

A 41 2 3

B.2 3 41
C.3 21 4
D.1 4 3 2

Match the following:

A) Caster o0il - 1.Sesamumindicum

B) Gingley oil - 2.Azadirachtaindica

C) Neem oil - 3.Arachis hypogea

D) Groundnut oil - 4.Ricinus communes
A 41 2 3

B.2 3 41
C.3 21 4
D.1 4 3 2
6) snmmieiten  wHMID  SAHfleon  Heunsld

@nevongm &> Qungeunest eflenest 61517

A. Hemensmellensiery

B. flyu spme

C. 91608MTEL 2 (HEUMSHEV

D. eurled Siblevld 2 (HeUMTSHEL

Which of the following is common to both Aerobic
and Anaerobic respiration?

A. Glycolysis

B. Kreb's cycle

C. Alcoholic fermentation

D. Lactic acid fermentation

7 ol GL& & ifletr, sneugraseflesr 26w 5
UEMSLILIMLIg6bTUI LIGNM6IVLIT 26050 DI6M6TTHS)|
A 1GymGaflwL 2 ullfleviigemen Ganessr(nsiTeng.

B. @ Qaeveomed  pe0r wWGsAlwm s

2 uiiflesraigenst Q& metoT(H6iTens,).
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C. uev Qeevmenmed 601 wWGsAlwm ips
2 Wiliflevtrigenst G&nesoT(HeiTeng).

D. uew OQ&Fev&Eenmed pesT Qv  LLEHEDFEHEET
Q& mevsT(h6Teng).

According to Five Kingdom classification of plants
by Whittaker, the kingdom Protista includes all

A. Prokaryotic organisms

B. Eukaryotic unicellular organ-isms

C. Multicellular eukaryotic organisms

D. Multicellular filamentous fungi

8) Ustrau(meussteummieit Hmeun QEevsemenl LHiw
samm|seflev 2 cvoTemiWINETTEN6 6Tem6U?

L. smeuy Qasvsertlev QFetTLflGWIMELEET 2 6iT6renT.

II. smeuy Qaevserfley LismigesulHhis6T 2 6iTormeoT.

III. seuy QEevserfley QF6v GeurgHel 2 6iTereoT.

IV. smeuy Qgsvserfley mievor GG 2 sitermeor.

A LII&III

B.I&III

C.II&III

D.ILIT&IV

Which of the following statements about plant
cells are true?

L. Plant cells contain centrioles

II. Plant cells have chloroplasts

III. Plant cells possess cell walls

IV. Plant cells have small vacuoles

A LII&II

B.I&III

C.II&III

D.ILIT&IV

9) aulL unemsuflev Fynesr GeusSGIL 65T 51561 665TM]
Q&sveyid Gurg)

A, oipstt HlevsGeausld LOHMID (WPWHESDL SpHW

@evoT(hb LIMTG).

B. oigett SHlemaGeausid LIMIG. D406 (PLESLD

LDMMLD.

C. oipstT (PHSHHD LLIHNG. esTTeL SHenaGousid

LDMMLD.

D. oig6tT SlengGous b (PH&ESWPLD IMILI(HLD.
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A particle moves along a uniform circular path

A. Both velocity and acceleration are not changed
B. Not change in velocity but change in
acceleration

C. Not change in acceleration but change in
velocity

D. Change in velocity and acceleration

2 65116y

10) (@1 2] QEFwHenES

Slemevuis:CamerfletT LwetT eT6dTEDT?
1) slL6VEEm6T aUIBL 55
2) efleugnw 2 HuSHemw SN
3) GrpGuim LHmILD Qamenevsa T Flullsy
LwesTL(HE DG
4) GL&MhISED6 H6voTeE) L
A 3&4
B. 2&1
C.1,2&3
D. oiemesis g
What is the use of Remote sensing satellites?
1) To guide ships
2) Estimation of crop yields
3) Used for radio and television
4) To measure clouds
A 384
B. 2&1
C. 1,28&3
D. All

11) seupnas QunmBHweTenens GBS0
A. Bembd — env@aevmy

B. Hleng Gausld — QeusLmiy

C. etem — ervBaevy

D. 2B5Wb — GeusLmy

Identify the incorrect pair.

A. Length — Scalar

B. Velocity — Vector

C. Weight — Scalar
D. Momentum — Vector

12) (5 HlTeus S)6tT [HI6TTTZHI60161 ] M) LICTITL 6185601607
QuMMIS581?

A. o156t1 56T efleng LissoTL

Learning Leads To Ruling
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B. @igett ugliy Qeallens
C. yalluiyiiy ellens
D. oige6tT Hleom
Capillarity of aliquid is due to
A. Its elastic property
B. Its surface tension
C. Gravity
D. Itsmass
13) ouwfleon upu BpsseviL  Fapmiserev
gifluneug) 6151?
1) oufleod etetrug Q@LUQUWIEFSH QFLIWSTalpW
emamL et iwesflenw Qsmesor(hsTeng|.
2) @Qungleuns; eT6vev Siblevraiseflepid emamL Fe6sT
Sevflold 2 6fTeng).
3) sislevsdlest PH whiiy 7 &3 eflLs enme.
A 1&2
B.2&3
C.1&3
D.1,2&3
Which of the following statement is/are correct
about Acid?
1) Acids are displacement/gives Hydrogen ions
2) In general all acids present in Hydrogen
element
3) PH value of acids below 7
A 1&2
B. 2&3
C.1&3
D. 1,2&3
14) seupnsl QuTmSSLIUL(HsTeng) CaiBos 0.
A. QusestAlwid — 2 Geonsid
B. @@y — 2@eunsbd
C. umervuneny — 2 GevnsLl
D. opstriigioeusil — Gsvmsid
Choose incorrectly matched pair.
A. Magnesium — Metal
Iron — Metal

Phosphorous — Metal
Antimony — Non metal

Oow
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15) auuilbpflev ey Q&iflonemslesenwenw &ifl
Q&ww uwestu(eugl —____.
A. smeudlwib umevLold
B. Qué&esfflwib umsvioid
C. Qum_Lmflw umevLod
D. s1g1611b Qevemev
As antacid as digestion problemsusedin _____.
A. Milky of Magnesia
B. Milky of Calcium
C. Milky of Potassium
D. None
16) Czflw sLHAsemmest HlubFHenesr QFHMLILINS
Uettaumeussteummisit sflwneniens Csimos 6.
1) @31 mres1E, wmblevkigerlsy ep wMHlev SHLAwns
SIBIESHESLILL L(H &S GeusssT(hLD.
2) Qumgls Coiselles @uesti(h F56i%5 GLrhisenen
Qupm wHmb sty rblevrasetled  QHHS)
Caibo &b ssIULIHSS GeuessT(HLD.
A 1ol (o
B. 2wl (hb
C.1&2
D. eigla|b Qevemev
Which of the following is/are correct statement
regarding National party?
1) Itisrecognized as a state party in 4 states
2) If it wins 2% seats in general election and
elected from three states.
A. lonly
B. 2only

C.1&2
D. Neither

17) seupns QunphHuetenens CaIHOSH 0.
A sMHEEL H6&D - FSHGI LHMILD &65oTasD)]
B. AaGur sevsd - flepiwm Cansiiiest

C. sndl et&d) - ey LIMjLo6Y

D. emust UgLél - used ssUBHS)

Choose the incorrect pair.

A. Santhal revolt - Sido and kanhu
B. Singpho revolt - Runa Gohain

Learning Leads To Ruling
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C. Khasirebellion - Rao Bharmal

D. Paikarebellion - Bakshi Jagabandhu

18) peummesiens C5ibOS5E.

1) glevewiliuenL SHLLESH0 (Pt  (pSH6edlev

SCWWSHSHL L T8 DONSTTLME Sp(ELD.
2) aunifle: Q&G Q&HMETENs CLP6VLD (PHEST (PSHeI6L
860650158150\ SMETETLILIL L. DiJ& ST SpSLb.
A. 1wl @b
B. 2 bl (hd
C.1&2
D. e1glaib @svemev
Choose the incorrect statement.
1) Hyderabad was the first state to sign the
subsidy alliance
2) Satara was the first state to annex by the
British by Doctrine of lapse
A. lonly
B. 2 only
C.1&2
D. Neither

19) QUNBHSZ)15.
a) sLLGumbLoest — 1) LmEpameori@Gnl&s
b) estemivggleny — 2) HWSHSHTMI
c) Sett HettevTioemev — 3) BSHEVML LD
d) feu sl ywessiiw WeTener — 4) sraisaAlif
A2 1 4 3
B.13 2 4
C.3 4 31
D4 31 2
Match the following.
a) Kattabomman — 1) Panchalam kuruchi
b) Omathurai - 2) Kayattar

c) Theeran chinnamalai — 3) Nagalapuram
d) Siva subramania pillai — 4) Sangagiri

oWy
OO )

4
2
3
1

Wb W
N~ b w

20) emy elEseneols GumymiL efyy HmsH
Henpuilev QgmeGHMuUTsL LNSSsLILLLM?
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A su 2 Agund eitemer

B. stiflgwessilw feur

C. sumwesstlw LimgHwmy

D. stSlpwessilw sqwiy

Name the freedom fighter who was affected by
leprosy in Trichyjail ____.

A. V.0.Chidambaram Pillai

B. Subramania siva

C. Subramania Bharathiyar
D. Subramania siva

21) &).(p BeTTHMD HIDHMHTETTTINED UMPIHS HIHSTEHET
womib  Cuwerflujseflsst FwsnevsHed  eumpnHs
FRISSTEVLI Lj6veulj wimy?

A. 2 symEgmflwmng

B. £656m60& Fngg e

C. omewpevsstiy

D. @enraiGaneulgseit

Who among the following was the contemporary
to the age of Nandas and Mauryas of 4 century
BC?

A. Urudrachariya

B. Seethalai sathanar

C. Mamulanar
D. Elangovadigal

22) SipsevriLsummieit Heumnesiens CaiB0SE0.
D@ev pLESLULL &S mE eetm 1927
Gunewsilullest (paettevd CBMGSHD LTS8 E6NSHS60
BOTHEGL 2 flemwenw QUMIEUS SpELD.
2) @nHwnalletT (P&H6v LIPBISHETeV S(Hedlemil FmufL
LIerm60 LU Lisvevrmeunsslev sevstmlbS.
A 1wl @
B. 2 bl (B
C.1&2
D. eigla|b Qevenev
Choose incorrect statement.

1) The main objective of the Mahad March held

in 1927 was to draw water from the public
tank

Learning Leads To Ruling

Prepared By www.winmeen.com

2) Robert Bruce foote discovered the first
Palaeolithic tools in India at pallavaram
A. lonly
B. 2 only
C.1&2
D. Neither

23) seupns QunphSHlwsTenens CaIHOS (.
1) GITASBISET - (PSHETEOLDS GlenM
2) efleurmu] - @eBEILILD Glemm

3) GUNEEEUTSHG! - CPETTDITD Flemm
A 1&2
B. 2&3
C.1&3
D. erglaib @svemev
Choose incorrectly matched pair.
1) Mining - Primary sector
2) Gas- Secondary sector
3) Transport - Third sector
A 1&2
B. 2&3
C.1&3
D. None
24) Spssevil ey  HLLD  ueteflsefley
wnesstaujse Gaisensenw AHHsf5s585?
1) gij6u Hgepm Siflwinesr HiLib

2) @S S eumey Guimegestm
3) wraUL L QFHTL&ESS S6vaild &L LD
A 1&2
B.1&3
C. 2&3
D. SienesisHgIb
Which of the following scheme/plan help to
increase the enrolment in schools?
1) Sarva Sikhsha Abhiyan Plan
2) Indira Awas Yojana
3) District Primary Education Program
A 1&2
B.1&3
C. 2&3
D. All
25) &1ps& s evTLsummIe Heumnesiens CHIBHOS 0.
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1) &gemen  evsotesormentgl  Geugluflwsd LIy
aflemesTmey 2 (HeUTEHM)I.
2) Siflgsv LD6BBTETBTITEBIE] Suunenmaseriflest
Hengallef(Bhg 2 (HeunSms).
A 1w (Ho
B. 2wl (Hwb
C.1&2
D. ergle|ib @6vemev
Choose incorrect statement.
1) Laterite soil is formed by the action of
Leaching
2) Black soil is formed from weathering of
igneous rocks
A. lonly
B. 2 only
C.1&2
D. Neither
26) Spsevei Wy Hemeveniouilevmest BTG Ly
greowoliys G euprHw uflbglennuilsst Guiflso
CapHw BILsML I Sy 6u18) mjs 22, 1957 Qev QrbSlw
&ML JHMISQSMeTemILLLS)?
A. Gusesng snsm

B. W&ol Qeursisl &lumymey

C. @&y Lysns
D. @Qmymied) Caami
The National Calendar was accepted by the
Government of India on march 22, 1957 on the
recommendation of the calendar reformation
committee headed by ____.

A. Meghnad saha

B. Pydimaari venkata subbarao

C. Rajendra prasad

D. Moraji desai

27)  SwpssetorLoummiei

SaUMnesT  SaHenm

C5IH056-

A GuflLy Guevressem  FLLD @ev 2005
QuboUILLL G

B. @pdwnellest 25% ellememblevd  eumL &luwimed
unSl&aLL(HLens.

Learning Leads To Ruling
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C. Ugsw wrpHfl Gsflw GuilLy Gevmsssienio
O ENETITLISH ST HEEVEUIT SpEUMI.
D. siemeownsd snhset gGemmslullest SnEs5HmS5

GODEHG|.

Choose the incorrect statement.

A. Disaster management act was enacted in
2005

B. 25% of cultivable land area of India is prone to
drought

C. NDMA is headed by Prime Minister

D. Mangroves would reduce the impact of
tsunami

28) Qumens eumy QsNLIUNET Fapmiserieco
SUMIT6vIZ)| 6157
A. sg1UL BlevliLiGS)&6rTl60 HMeuNmIS6iT HMILD L& &L
Gungy, snsseoL siflaugseflefl(BHgibd @ubens eumu]
2 (Heunflmgl. Hlevssfl snmsmgefsyb GeusflullHo
QuULGrmeSlw SHlevstmisserfleyd @uiHems eumy 2 6iTemg).
@&l6v 90% L5&BH6T 2 6iT6MTg).

B. CNG whmd 6T6OTLG| SUHH S(WEHSSHH 0
Gaaflésu(bb eumy.

C. Qubens eumy (HEOMHS H6Me| WM&
HUBEHSEFelgW 6T QLIT(HET Sh(ELD.
D. Quihens sumu Lisv euenswimest eudlll GILIM(HeTEH6T

HMID 2 JraseT SWmfléssls LwesTUBEDSI.

Which of the following statement is incorrect
regarding to Natural gas?

A. Natural gasis formed vegetation
decomposes in marshes, sewage and in coal
and petroleum mines. It contains 90%
methane.

CNG and LNG is stored at High Pressure
Natural gas is a less pollutant fuel
D. Natural gas is the starting material for the

manufacturing of a number of chemicals and
fertilizers

o w

29) &Spsseviaummer UGUmessy Hwmfles

aBOSHS eTevorlevonil LweTUESSULBGEMS)?
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1) opewoisE eetorOemrl  OMID  W&HSTECFT6T
6T650T() 65T
2) Gamwm etterv LHMID G FWSMHE) eTetoCl6TBTLL
3) uBSS) LHMID CBHEL 216 eTevBTOl6TDTLL
4) quuy QslenL 6T6ssT6) 6v0TLI
A 1,2&3
B. 2&4
C.1&3
D. oiemesisgid
Which of the following oil is used to
manufacturing Bio-diesel?
1) Jatropha oil and Corn oil
2) Soyabean and Sunflower oil
3) Cotton seed oil and Rice bran oil
4) Rubber seed oil
A 1,28&3
B. 2&4
C.1&3
D. All

30) QU5 I5.
a) gamy SHeunesll zmevs — 1) @eveomslw Seveil

Blmieuestid

b) s@yn&m — 2) 2 flenwuilwev B&Hwestmid

C) &5 HFND UFMevs — 3) HMeusvgIenm S S

d) warmem — 4) @Ghmeilwev H&Hwestmid

Al 3 4 2

B.31 2 4

C.2 3 41

D.4 2 1 3

Match the following.
a) Sadar Diwani Adalat — 1) Islamic Academy
b) Daroga — 2) Civil Court
c) Sadar Nizamat Adalat — 3) The police officer
d) Madarassa — 4) Criminal court

Gunijsemenr  smeveuiflemauilev

Learning Leads To Ruling
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1) eypstTmmeug;l Limesflui Guimy
2) Aevragm Gumy
3) subgeurd) Gumy
4) useroy Gumy
A. 2-3-1-4
B. 1-2-4-3
C. 3-1-2-4
D. 4-2-1-3
Arrange the following wars in chronological order.
1) Third Battle of panipat
2) Battle of Chinsura
3) Battle of Wandiwash
4) Battle of Buxar
A. 2-3-1-4
B. 1-2-4-3
C. 3-1-2-4
D. 4-2-1-3
32) SpsaeviLaummiet BrSljapn LMl Fiflwmes
gamenm CsiHO5H-
1) @sui @BHwm 1551 1739@60 LemLQuIBSST.
2) @eui Splisesflenvgmemest EmjbEeul,
3) @eui Canflenmy eneunbd HMID LUlley S FTTHMNS
ensLILD Q&FesTD.
4) @euflest uemLQuBLitlesr Gungl GLsvesluflev

&gl 631 S Hulled QUBHST].
A 1,2&4
B. 1,3&4
C.1,2&3
D. SienesisHgIb
Choose correct statement regarding Nadirshah.
1) Heinvaded India in 1739
2) He belonged to Afghans
3) He captured Kohinoor diamond and the
peacock throne
4) Muhammad shah was the ruler of Delhi
during his invasion
A 1,2&4
B.1,3&4
C.1,2&3
D. All
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33) meveunLdl BemLGUMailévemey 616518 SHMIJETUILD
sgaffl  SGwnsH  ENerEH pESICeuCW
HpsHinHw
Qug) 65T SpLFlwnenyns QHHSHeu wn?

A. Guslb &FTS &ML

sL6GUeflyLest @evevorsaILLL

B. aunflg o160

C. &M 2. 6-56 600

D. @765oTLITD QBT 601D

Who was the ruler of Oudh when it was annexed
by British on the ground of Misgovernment?

A. Begum Hazrat Mahal

B. Wajid Ali

C. Shuja-ud-daulah
D. Shah Alam II

34) elpigw QUINEBHETTSMLD 6T65TLIS)

A. Blg QUWILIEOL HeD)IDS\EEME)

B. 5lp Si0[FHem60 HED)0EHSSNG)

C. wevBNL(H sumessiiLFHens ien)IH&ss)
D. 2 6MBM(H sunesslluGens SisniwSlEsnsi
The closed economy is the one which ____.
A. Does not permit emigration

B. Does not permit immigration

C. Does not permit foreign trade
D. Does not permit domestic trade

35) e Geusmevulilev BB WHOMMIH Couenevs: (s

Qeeogb@ung  Geusmevuilsvevm  HlevoTLMILLD
gnuBaiens sleueunm| Hemp&HEGmmD?

A. 2 g6y Geuemevullestemio

B. L@peusmsv Geauemevwlestemio

C. @gmplevmi L Geuemevuilsstemio

D. & lpev Geusmevuilestenio

Unemployment which occurs when workers move
from one job to another job is knownas ____.

A. Frictional unemployment

B. Seasonal unemployment

C. Technological unemployment

D. Cyclical unemployment

36) uewfle@ 2evvtey eurIEGL SHLLD SpaevorL
eTeueunmm)| QU IHMLD CEFLIWLILILL&|?

Learning Leads To Ruling
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A. Agmouyw HleownCumy GeuemeveumiliL] 2 mig

SILL

B. Gg&lw 268 GeusmsveumiiLiL &l L b

C. seuamy Grmeay Gwimegsosrm

D. @pradlenesoihg 26n8 euemiFds &L LD

The food for work programme was renamed as

A. Rural Landless Employment Guarantee
Programme

B. National Rural Employment Programme

C. Jawahar Rozgar Yojana

D. Integrated Rural Development Program

37) @@ emumil &MHs BreEWSSHlev 2 66

M&CW(RSS] WNHemLWG)?

A. @bSw Ulggio wBSIH

B. flgijeu eurkid Su,Embb1

C. @psHw hldlwenwsay

D. @nglw K& Siemwdss QFwevnery

One-rupee currency notes bear the signature of

A. Prime Minister of India

B. Governor of RBI

C. Finance Minister of India
Finance Secretary of India

38) @uetoiLneug) whsnevuih HLLD THNE
W&Hwsgleud Q&ENHE55?

A. elleugmu suemjgs

O ¢

B. s6val suemjFd

C. Qgmplev eusmjsdl

D. eumismo eiflii]

The second five year plan gave importance to

A. Agriculture development
B. Educational development
C. Industrial development
Poverty Alleviation

39) QUNBHS5SIs.
a) GamiLm — 1) 2587 NIfCa&LD

O ¢

b) sevLNGSED — 2) LSMTTERLeTT

¢) umum — 3) gregsivgmest
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d) sGymym — 4) BlLHIE
A3 4 2
B.2 3 4
C.1l1 4 2
D.2 4 1 3
Match the following.

a) Kotta — 1) Utter Pradesh

b) Kalpakkam - 2) Maharashtra

¢) Bhaba - 3) Rajasthan

d) Narora — 4) Tamilnadu

W =

A3 4 2 1
B.2 3 4 1
C.14 2 3
D.2 4 1 3

40) Qz6TG0ME UHeussETHMlest Cung SBIPHIH
sumesot(h' SMesoTLILI(H6ug) 6J6017
A. smhm @HsL LGSHenl SlenLauglevensy
B. @bsL1 L@SHulley ensugeT HlenLwing|
C. @51 wemev WempeyLl LNTEHEEHSlev Q(HEHS M)
D. @@ QeuliufBlemev W& &
During the period of the south-west monsoon,
Tamilnadu remains dry because,

A. The winds do not reach this area

B. There are no mountains in this area

C. Itliesin the rain-shadow region

D. The temperature is too high

41) @flu sfHjeisdenr m LGS NrHusdlinfes
ewsud  efletor@QeuafleE SHpull spuliu@eug)
sTeuaunm)| Hemp&sUILIHEIMS?

A. siuanfleSlwest

B. oe0QuGLm

C. eefladlgmev

D. nnBev eerfl&Hmev

The portion of incident radiation reflection back to
space from the planetiscalled _____.

A. Aphelion

B. Albedo

C. Scattering
D. Rayleigh scattering

42) seupns QunphHueteneng Caibe%®H .

Learning Leads To Ruling
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a) medest BrswT (Pempuilest HHeng — Capias
b) @bHw UL unengullstt Hhens — Levameyd
c) @nHwu (Ggeowl uewllullest  sHems -
SesTaUTeS 670
d) melest @bHlwnellest sHens - gregm pmd Gonsest
[l
A 1ol @o
B. 3wl @w
C. 1& 3 i [{ib
D. egleyb @6venev
Identify the incorrect pair.
a) The father of modern currency — Shershah
b) The father of Indian Railways — Dalhousie
¢) The father of Indian Civil Services —
Cornwallis
d) The father of Modern India - Raja Ram
Mohan Roy
A. lonly
B. 3 only

C.1&3

D. None

43) QuNB55I5.

3) @hevméaen 151D — 1) Hlhsseu

b) engeonamnsy Canailsy — 2) (Glplosvevld

¢) efyLn@eveiveuny Gamailsv — 3) &mepFL LD

d) urgannGueveury Gamalley — 4) WMDELELL| LD

A4 3 1 2

B)3 4 1 2

)1 3 2 4

D)4 2 1 3

Match the following.
a) Monolithic Rathas — 1) Tiruttani
b) Kailasanatha Temple - 2) Gudimallam
c) Virattaneswara Temple — 3) Kanchipuram
d) Parasuramesvarar Temple — 4)

Mamallapuram

A4 3 1 2

B)3 4 1 2

)1 3 2 4

D)4 2 1 3
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44) SpsseaviLaummien ez Fflwns  QUIEHHS)
2 eiteng)?

A) mepdls S - Llemmdl Guimy

B) &1L sevaest - SBTHET6NL 2 L 65TLInEHENS

C) Qams&Lij wesT@mm - LssTF Guimy

D) eunmlgett - LEIMaISLILLI6DTLD 2 L 65TLIE6em S
Which of the following is correctly matched.

A. Ranjith Singh — Battle of Plassey

B. Tipu Sultan - Treaty of Amristar

C. Hector Munro — Battle of Buxar
D. Watson — Treaty of Sriranga Patnam

45) QILTAT
Sl Leuemeroruiled LEHEMUSSI (Peomuiley pMHMev,

Sin&lwevemioLiLilest 6Th &

ENEALA ) 1) LHMILD QuImLILS6iT
Gl uuL (Heitenent?

A. e Leug) i L6uemesst

B. @etTLISTOUG)| SiL L 6lenI600T

C. ugseug)| S L 61enerssT

D. ug@eoTesTmMeUg) L L 6)6mI650T

Which schedule of the Indian Constitution
specifies the powers, authority and responsibility
of Panchayats?

A. Eighth schedule

B. Ninth schedule

C. Tenth schedule

D. Eleventh schedule

46) ey (oMUl SpLH SMevSHH6v eWeESTHLD
unesflul WSS KeoL QUHMS)?

A. Lpsadlwmy

B. Q6toILD 63T ,60LD

C. @UeseTLD Sp6e0b&EiT

D. @nessTLD USGTTaBT

The Third Battle of Panipat was fought during the
reign of which Mughal Emperor?

A. Farrukshiyar

B. Shah Alam II

C. Alamgirll

D. Bahadur ShahII

Learning Leads To Ruling
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47) LNetTeu(HLD Benesiseflev SUMNTS

Qun@phSHluleiteneng Csijey ClFIs.

A. 5bamiSHST - aU(HEUM &lemm

B. 9155 WL E&756IT - euetsliad HmID Gsmleogienm

C. 18851j&6T - el L [Hljeunsd

D. Garuett — BHsgIemM Hljeunsid

Which of the following pair is incorrectly matched.

A. Samharta — Revenue Department

B. Adyakshar — Department of Commerce and
Industry

C. Rajukar — District administration

D. Gopa - Judicial administration

48) mrigest Qe uNeSens CUMILEG Geussim)

P85S &6vPetT HMID LSS O5MNES Qe Cuw

BHs Wy FenLsemen HETHOSFHSeuT

wm?

A. sievmeySett Hlevedl

B. Slwnagett gisens

C. &g LNetT 58615

D. QuGnmeip gi56ms

The sultan who completed the conquest of the

south and broke the political barriers between the

North and South was ____.

A. Allaudin Khilji

B. Gyiyasuddin Tughluq

C. Muhammad-bin-Tughluq

D. Firoz Tughluq

49) &1 & 6vvTL 6uHM] 61T Fflunesteng

Caibos[HssaLD.

1) ussl sLeyeT @LUS 6HsaD  @eveney

DMIGESHEULD 6V6m6V.

2) wanealyy g FLjsHensT BNESIE  (PHEW

aflysriseneT seoLLiLlpss eueslwmisdlest.

A. 1ol (B

B. 2 b (Hd

C.1&2

D. e1g16b @6vemrev

Choose the correct statement.
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1) Buddha neither accepts nor rejects the
existence of God.
2) Mahavira asked his followers to strictly
observe four great vows.
A. lonly
B. 2 only
C.1&2
D. Neither

50) @bHlw GsHlw smmaHgenflesr wrsLF( 1920 )
gal L5QsMLflev @ Camg emumi swnonsy B
Cxaiflss (Piga] QFUWIWILILILL 65T SHMJESID 616576017

A. @&glenpunen QuIsSED CGTLkIGMSNE
B. umev srisngy Hlevsifletr Hlemestouns
C. unLéfserflev mBHUBW GHHLUMRSERSE 2gail Lflw
D. amiflegest wé&aerflett GoLim (h LisssilaE,
The Nagpur session of the Indian National
Congress ( 1920 ) decided to collect one crore
rupees in the shape of swaraj fund for ____

A. Launching the non-cooperation movement

B. A memorial of Bal Ghangadhar Tilak

C. Helping the families of the revolutionaries

D. Harijan welfare work
51) UNesteu(peucttaummien D& SHeMen6UsE L (HID
2 6o FIMLIL HS\SMITEISET sTemeu?
1) uewwTd BFTHEMEU NN (PSHLILI(HESHED
2) sieugr Hlemev LNTsLTLILBHSSHISNIHE 6LILISD
SUPMRIGS6V
3) SiemwEsTmaGEL HIME  BbUlGensuilsoeom
Eiwnesiseng Qsmessi(h 6u(HS6e0
4) BlWwn& seneveusn] Lga [Hash QFlgen
A 18&2
B.2&4
C.1&3
D.1,2&4
Which of the following are the exclusive power of
Lok sabha?

a) To introduce Money bills

b) To ratify the declaration of emergency

c) To pass amotion of no-confidence against
the council of Ministers

Learning Leads To Ruling
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d) To impeach the President
A 1&2
B. 2&4
C.1&3
D. 12&4

52) @bsw tigswg ubhplw Ulesteupd Fammisereo
2 6TTTEMOWINGTTS)] 61817

1) @pHw Unsor Sigssle Nemgwen @etriy Guijsiv
eTeTUSHS&ME GuTmILiLefl&asUu Sy

2) Ugswi sevegieoLw  uewfl  Qurmtiyserfey

Sl6U(HemL L SI6DIDEFEFEBIGULITEL 2 geail

SeflssLuBEDGI.
3) GLWrEds HOVIBEGL  lenFFjEer st
GualhEb QenLCuw WNyswy Ulfseonet $aeaied
Q@amLiY euflwing GmaE M.
4) SbHw FLLES6v
glenesorlLIng LT LUDHH) 6165608 W (GBILILLD Gevemnev.
A 1,2&3
B. 2,3&4
C.1,3&4
D. 1,2,3&4
Which of the following is true about Indian Prime
Minister?
1) The Indian Prime Minister has often been
designated as primers inter fares
2) The Prime Minister is assisted in his task by
his council of Ministers
3) The Prime Minister is the main channel of
communication between the President and
the council of ministers
4) There is no mention of deputy Prime
Minister in the Indian Constitution
A 1,2&3
B. 2,3&4
C.1,3&4
D. 1,2,3&4

53) Qunmsg)s.

a) opflw A5 ~ 1) SeteubEl
b) eflrans L — 2) SpFlwulLy
¢) Beubgaid — 3) SevoTipet

ATFWevemLILI&E
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d) smellwsyerd — 4) eugnasLSry
A2 41 3
B.31 2 4
C.4 2 31
D.1 3 4 2
Match the following.
a) Arya Sidhanta — 1) Dhanvantri
b) Vrihat jataka — 2) Aryabatta
¢) Navanitakam — 3) Dandin
d) Kavyadarsa — 4) Varahamihira

A2 413
B.31 2 4
C.4 2 31
D.1 3 4 2

54) @nHwumeilett SpPwevemoliy  FLLSH 60T
Netteupid Llifleyssemeit suney@QaeveysHEHLLID eT6dTm -
aunjseng @Lib Quimieter Llifley e1gy?

A. 5785 266

B. sn5g 112

C. 57585 265

D. @eummieT s1g16d @svemev

The word Budget is mentioned in which of the
following Articles of the constitution of India

A. Article 266

B. Article 112

C. Article 265
D. None of the above

55) seummest @emevvrenwl &L (Hs.
1) oifipey LMMBD — afl.lp. FouMjeaT
2) @& &S5BS QSEHWLD - sUTe FhHHITGLTE
3) siemIFevett 115 - LNGHLBMS Weipnm
A 18&2
B. 2wl (B
C. 3wLEw
D. 2&3
Select the incorrect pair.
1) Abhinav Bharat — V.D.Savarkar
2) Indian Independence League — S.C.Bose
3) Anusilan Samiti — Premnath Mithra
A 1&2
B. 2only
Learning Leads To Ruling
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C. 3only
D. 2&3

56) seumnest Cymeeniw Ggijay Q&1s.
1. Gaflws &My eJyhL H6T — e7%mev 22, 1947
2. GaHlw Eab gL meT — gevteurfl 22, 1950
3. GaHlw uMLev 6Ly BeT - g6vteuifl 24, 1947
A. 1oL @w
B. 2 bl (hbd
C. 3wl (hw
D. egleyb @evenev
Choose the incorrect pair.
1) National Flag adaption — July 22,1947
2) National anthem adoption — Jan 22, 1950
3) National Song adoption — Jan 22, 1947
A. 1only
B. 2 only

C. 3only
D. None

57) e15semenT QUHLMEISGEDHSE QRHpenm CsHlw
sevall pemesonud FHUBSHSILL Ceustor(Hd eTevT
upni@lguilest W&SEHSEHTET CHHlW Y enevoTwLD
uflibgieny QFwig)eieng)?

A. u(BLL @6 (Pemm

B. @etsi(h u(BLEISEDHSE G(H (PO

C. ClpsiTmI UL IBISEBEE G(HEM

D. ®B8! UBLAISEDHEE QB

National commission for Scheduled Tribes
recommends that a National Education
Commission must be setup for every

A. Oneyear

B. Two year

C. Three year
D. Five year

58) GevnsLITen wC@sngm (PSP SH68160
Gevnsgumailev 6H G 360015
APl PsULESSILLLSI?
A. 1968
B. 1972
C. 1975
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D. 1976

The Lokpal bill was first introduced in the Lok
Sabha in which year?

A. 1968

B. 1972

C. 1975

D. 1976

59) SpsetiLeupmieT ehF SinFwevenioliy aflf
SlenewT  (HlpWNSE  Hemeveuj  LOMIEleVEISETEnEU
Fal LBISGEHSE SHENEVenD  SMEIGEUM]  eTeoT

SamISISI?

A. 87

B. 88

C. 89

D. 91

Which of the following Article says, The Vice-
President presides over the meeting of the council
of states?

A 87

B. 88

C. 89

D. 91

60) Ueau(pauettaumemnpuy  @umens  BH
Qanetemsullest  gliuenLulled  uessflwmHmID
Si6nIoLIL 6157

A. &FHW H36160 SpEMETBTILD

B. w&SHw seso1amessilliL) Sp6m6toTD

C. B8 o Cwins

D. wsdHw Hijeunss SFriumuid

Which of the following works on the principal of
Natural Justice?

A. Central Information Commission
B. Central Vigilance Commission

C. Niti Aayog

D. Central Admistrative Tribunal
61. Find the mean of the following:
10, 20, 30, 40, 50

a. 10 b.20

c.30 d. 40

SwsnevoTLencuseflet FTnEfl Smevors.

Learning Leads To Ruling
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10, 20, 30., 40, 50
a.10 b. 20

c.30 d. 40

62. A car covers a certain distance in 4 hours if it
is travelling at a speed of 60 Km/hr. How much
time would it have taken if it were travelling 20
Km/hr faster?
a. 3.4hrs
c.3.5hrs

b.3.0 hrs
d.3.2 hrs
QU HPHGH 60 H.6/ wewfl ereorn CousdHev

QaettNey @ GUILLILL HM5ens &858 4 wevufl
Cuyw 615515 Qaneflngl. ibhg LB 20
.15/ wevefl eflemgouns Qastimmed UHS HMSHENS
HL58 61(H5815 QameiTemLD Goi eTeucusmey?

a. 3.4 weoofl b. 3.0 wewvsfl

c. 3.5 weosfl d. 3.2 wewsfl

63. One of the measures of Central Tendency is
a. Mean b. Variance
c. Standard deviation d. Square root

enWLl GUINE: (S DH6TEDIUS:(ETHEIT €65TM)

1. &l . LTeuLIlg

8. SILL aflevssd . QU CLP6VLD

64. Find the LCM of (6,20)
a.20 b. 40
c.60 d. 80
(6, 20) eb1 5&AM QNG OLEIE,
a.20 b. 40
c.60 d. 80
65. Convert 6 : 4: 10 into percentage
a. 60 %: 40% :100% b. 6% :4% : 10%
d. 30% :50%:20%
Page 13 of 20
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6 :4:10 erett eNlflBHems FHIFI0ONS WAHM]

a. 60 %: 40% :100%
c. 30%: 20%:50%

b. 6% :4% :10%

d. 30% :50%:20%

66. The L.CM. of three different numbers is 120.
Which of the following cannot be their H.C.F.?

a.8 b.12

c.24 d. 35

ewettm| QeucuGeumment stevvraserflest 15.£.10. 120 etevflev

S105 & 6vTLUMHMI6TT 618 Sl6uGleuesots:erflstt L5.QLIM. 6u

3{606V?
1.8 . 12
Q.24 F-. 35

67.1f x +§ = 3 then x5+xi5 is equal to

a. 123 b. 83

c.92 d. 112

X +i = 3 etevflev x"’+xi5 &(& FLDIDM6VIG)

a. 123 b. 83

c.92 d. 112

68. If 20 men can build a wall 56 meters long in 6
days, what length of a similar wall can be built by
35 men in 3 days?
a. 46 meters b. 47 meters
d. 49 meters

c. 48 meters
20 oy s6iT 6 BLS6ifleb 5615 Bem(psitenm seaueny HLig
(P55me0 35 oplse 3 BILseflev ereucueney Hens
Feuenns SLlg (WpigliLi?
a. 46 8Ly b. 47 5Ly

c.48 15 L1y d. 49 Sy

Learning Leads To Ruling
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69. The ratio of the ages of son and his father in
2014 and 2022 are 1 :4 and 3 : 8 respectively. Find
the sum of the age of son and father in 2010

a. 42 b. 43

c.50 d. 45

2014 wiHmib 2022-6v Q(H WS&ET WHMID SHHensuilest
awg allflgw weomCGuw 14 woHmib 3 : 8 ereflev

20106v &6t WHMID HHeosullesr euwgserflest

Fa.(h560 Wng)?
a. 42 b. 43
c.50 d. 45

70. A dealer allows a discount of 20% and still gains
10%. What is the cost price of the book which is
marked at Rs. 440?

a. 396 b. 320

c. 352 d. 376

QM UuSsasSSler eailemeouiles 20%  HememLiy

Qazuigneyd @y eflwnumfleEE 10%  Qevmubd

Sl s8Imgl. AUUSSESHeT G165 allemev em.
440 erevfleb iz 6tT DILES aflemev wing)?

a. 396 b. 320

c. 352 d. 376

71. Find the Simple Interest on Rs. 5000 at 10% per
annum for 5 years.

a. 3500 b. 5000

c. 2500 d. 2000

oFe0 em. 5000 &@ 10% el eissHes 5

O4600T(H& (67553 Hevfl auLlg eTetTenT?
a. 3500 b. 5000
c. 2500 d. 2000

72. Find the missing number in the following:
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11,6,0,-7,-15, ____

a.-21 b.-19
c.-24 d.-10

&0 QanBssLLL(Remen eTevor auiflemauilsv afll(HLLL

6T6TUTEDIETOTS SHITETOIS.

11,6,0,-7,-15, ____
a.-21 b.-19
c.-24 d.-10

73. Find out the missing number.

0,6,24,60 210.

[ —

a. 120 b.144
c.90 d. 96

afl(HLILL 616036065018 SIT6TTIS.

0, 6,24, 60, ___, 210.

a. 120 b.144

c.90 d. 96

74. Two dice are thrown. What is the probability of
getting a total of face numbers 12?

a— b. 11—8

c.— d. %

QU USOLS6T 2 (HLLUILEGUNE) (ps etesors:erflet
Fa.(HB6v 12 Hlen)LLILSH S N6 FSSSH6 ____ S (&LW.
a.— b. %

c.— d. %

75. If the wages of 15 labourers 6 days are Rs. 7200,
find the wages of 23 labourers for § days

a. Rs. 6200 b. Rs. 7200

c. Rs. 8200 d. Rs. 9200
15 QgmflevnenisEms S 6 HNLSEHSSNT Fa.60] €.
7200 eeflo 23 G@QsmblevnemisEnsHE 5

IBITL_&(6TH 58 T6vT Fa.6\] eTeu6U6TE?

Learning Leads To Ruling
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a. Rs. 6200 b. Rs. 7200

c. Rs. 8200 d. Rs. 9200

76. What is the Median of the following?
3,4,5,3,6,7,2

a.2 b.3

c.4 d.5

S5 56v01L efleunmiisen @ QemLblensy &mevor.

3,4,53,6,7,2
a.2 b.3
c.4 d.5

77. Simplify : (-9%) + 1 2)

a.9> b. 3>
43 43

c.-3— d.-9>
43 43

3

&(H555. (—9 Z) +(1 %)

a.9— b. 3%

c.-3— d. -9 43—3

78. Find the HCF of 135 and 225

a. 45 b. 40

c.35 d. 30

135, 225 &g 5LIQUH QUg) eu@G5S smesor
a. 45 b. 40

c.35 d. 30

79.1f n% of n is 64. Then n is equal to

a. 6400 b. 640

c.80 d. 160

n-eb1 N% eT601LIZ) 646T6vfl6b N-68T OS] WiNG)?
a. 6400 b. 640

c.80 d. 160

80. Ruban and Krishnan divide Rs. 1250 in the ratio
2:3. The share of each are

a. Rs. 500, Rs. 750 b. Rs. 550, Rs. 750
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c. Rs. 750, Rs. 500. d. Rs. 700, Rs. 550

emusnId, Hlpeipesoienid em. 1250 &5 2 : 3 etebm
eflfls58)ev LNfl5515 Qa:nesoTLey, eueum(meuiflest
UGS Qg menswnesg)
a.Rs. 500, Rs. 750

c. Rs. 750, Rs. 500.

b. Rs. 550, Rs. 750
d. Rs. 700, Rs. 550

8l. FmemqldD — 2019 eTedTLIG 6THS LSH W
MNEFFEHESFH T B THICHTMILD
BLSSLILUGLWL 2WiEFme] QUMSINES6T
60)LO W LOT6OT Ly mevorL
UFLILemTwm@Ln?

[Al ©W4BT LOHMID SILLTE| SeDDEFFEHLD

[B] 3&6u60 LDMHMILD 6260LITLIL] S|6MDFFGHLID

[C] PI®WemnngFFs1D

[D] QUL Grmedlw wHmIb @Wwmens erifleuru
MDFFSHLD

Saksham 2019 is an annual high intensity people-
centric mega campaign under the aegis of which
ministry?

[A] Ministry of Drinking Water and Sanitation

[B] Ministry of Petroleum and Natural Gas

[C] Ministry of Finance

[D] Ministry of Information and Broadcasting

82. Ca&H W el g 2_rflemioseir
31,60)600T LI & B) 66T (NHRC) 5 606V6DILD
QW& SHITS (e & 76 6v0T)

BlWS & & LU LB 6ITemeuly Wimy?

[A] 9185 G6LeVETEY.ST

[B] S N Wyasmeor

[Cl Ypurs Al

[D] oS smerv

Who has been appointed as Director General
(Investigation) in the National Human Rights
Commission (NHRC)?

[A] Amit Kulshrestha

[B] S N Pradhan

[C] Prabhat Singh

[D] Pradeep Das

83. ULEAEL QFwWewemmenWL] LM
QUMSILN & 86T N BB Q&TETUSH MM

Learning Leads To Ruling
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B1S Wenn&FF &0 G el LLiflév THS5 5
QSIMTLIJ Bl&Lheneu QG ITL MHIG W 6iTerngl?

[A] Know Budgetary Process

[B] Know Your Budget

[C] Know Your Economy

[D] Know Making of Budget

The Ministry of Finance has started which series
on Twitter to educate general public about the
budgetary process?

[A] Know Budgetary Process

[B] Know Your Budget

[C] Know Your Economy

[D] Know Making of Budget

84. 2|60)6UTS G518 &600TLE1 & 61Tl VILD 2_6IT6IT 6J (LD
K&eywirhHs &\ & 17 161 5 61T LMH/MID
erfllnemeu s erfleir 2 FF eml S MLIHS (NS 6V
@B W HOID @ eTbeuw S BLIF WIT?
[A] LIbs T CFMsT

[B] greoredl Wf@uI@® DL ST

[C] omemeus Liiyevorm

[D] &5 Wwenl ASSTHST

Who has become the first Indian and youngest
man to climb the seven highest peaks and
volcanic summits across all continents?

[A] Mamta Sodha

[B] Jaahnavi Sriperambuduru

[C] Malavath Purna

[D] Satyarup Siddhanta

85. ehgs elleorQeuefl [BlMIEUETLOMETSI
LN 7LEh &5 S 60T CBMHMESS
LT MleusM&TeH SPHEREX mission-emeor eeu
W96 Q&FUIGI6Teng?

[A] NASA

[B] JAXA

[C] Roscosmos

[D] ISRO

Which space agency has decided to launch
SPHEREX Mission to investigate the origins of our
Universe?

[A] NASA

[B] JAXA

[C] Roscosmos

[D] ISRO
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86. 83eus EFellwy GCsHFAW UM 6T
gmiweiradlll 2019 QLTS 6T @ mHenmuly
LKfledev Qeumn) QuMeuF WmF?

[A] goaumeur &LLIT

[B] el BB

[C] ojerveilent] QimedTEOTLILIT

[D] 6ot GH6UMTEV

Who has won the women’s singles event at the
83rd Senior National Badminton Championships
2019?

[A] Jwala Gutta

[B] PV Sindhu

[C] Ashwini Ponnappa

[D] Saina Nehwal

87. B & & TEmID 6THS R Ifl & &L ) evorl 2019
4D BL,600TIY M & TEOT FFITMTeni] C&TLemLIemL
QeueTMSI?

[A]l s TUm

[B] @peivl. oyl @&\

[C] o wirr

[Dl sgmILsST

Which of the following cricket teams has won the
2019 Irani Cup?

[A] Vidarbha

[B] Rest Of India

[C] Mumbia

[D] Karnataka

88. QL6VESl HEMLILIBHE HPSHEHHML (LPGH6V
WemMWITES SMVUBS [JHEOTT  eTedrml
el &L LeUT WITH?

[Al &L T

[B] LIUI& MBI Lblq.uim

[C] &evflev GE5If]

[D] &® LIS Gk shg!

Who has been conferred the first-ever Football
Ratna by Football Delhi?

[A] Subrata

[B] Bhaichung Bhutia

[C] Sunil Chhetri

[D] Gurpreet Singh Sandhu

89. Nereu(pLd THE Rfl&EQHL 6ol 2019
MEF WS (N6eNVGITEH 60 Gamlemuemw (Syed
Mushtaq Ali Trophy 2019) QeuedTmg1?
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[A] g21q.6r0m

[Bl & Mmeqqym

[Cl 2 6Fr1978s&1h

[Dl &srmITL&ST

Which of the following cricket teams has won the
2019 Syed Mushtaq Ali Trophy?

[A] Odisha

[B] Maharashtra

[C] Uttar Pradesh

[D] Karnataka

90. YICF®TeL BILIgedT S @WSHev BRICS

Qeaqyum Sl LSS 6 QBB WS
&nN8156WaNHS wrrry &6M6V6EmLO
RS SHMF?

[A]T.S. B Gepi&ES

[B] prredeu LliGeot T

[C] @17l LOMUITFTLD

[D] prredeu @Lomiy

Who led the Indian delegation at the first BRICS
Sherpa meeting under the Presidency of Brazil?
[A] T S Tirumurti

[B] Rajeev Topno

[C] Arvind Mayaram

[D] Rajive Kumar

9. ®ev CrrEmsailsy QFURH Sl
&STeooTLIL(HLD CLOM @ 6MIH6eV HITULIFFeL (West
Nile Fever) 615 60T eLO6uLD LIT6Y&BMSI?

[A] QeueTeuTeL

[B] By

[C] 6160

[D] @& mar

West Nile fever, sometimes seen in news, is spread

[A] Bats

[B] Water

[C] Rats

[D] Mosquito

92. QFWG&HET UurULS SIHEIGET

S, 60)600T WL & B 60T LS w S6M6VEUIT TS
Bl & & LIu LG eTemeury Wmy?
[A] S Siligi60 BET
[B] @17 e360r GLOMT &0
[C] maTeor F\etTOMT
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[D] efeofss & yevor

Who has been appointed as the new chairperson
of News Broadcasting Standards Authority
(NBSA)?

[A] S. Abdul Nazeer

[B] Navin Sinha

[C] Arjan Kumar Sikri

[D] Vineet Saran

93. 2019 2.5 QFBMTMVSQSTLIFL] LOMMILD
5H6U) FeNG [HTEHSHEITET & ([HLIG LIT(H 6T
6T6OT60T?

[A] Women and Girls in ICT

[B] Bridging the standardization gap

[C] Enabling the positive use of Artificial
Intelligence for All

[D] Big Data for Big Impact

What is the theme of the 2019 edition of World
Telecommunication and Information Society Day?
[A] Women and Girls in ICT

[B] Bridging the standardization gap

[C] Enabling the positive use of Artificial
Intelligence

[D] Big Data for Big Impact

94. “Coming Round the Mountain” eredrm HIred) 6ot
Al wmg?

[A] @ e G\ 6oT LimesorL_

Bl Geuss LILBMTUIS

[Cl 2185 M& @ T TRGSHITLITEV60T

[D] oi1609.8m Qs mis)

Who is the author of the book & Coming Round the
Mountain?

[A] Ruskin Bond

[B] Ashok Rajagopalan

[C] Devdutt Pattanaik

[D] Anushka Ravishankar

95. 2 eu@erT WHNWHIHS QFweLIBLD
eumenflemev [Mlemeuwmigenmeorsl (Operating
Weather Stations), LNeTeu(BLD 6THS LOEMGLEF
F &6 B 6L Ml mieuliLIL (HeTengl?

[A] &EHF EHEFMBIGT

[B] sTou@meruL

[Cl n&&ma

[DIK 2
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The world’s highest operating weather stations
has installed on which of the following
mountains?

[A] Mt Kanchenjunga

[B] Mt Everest

[C] Mt Makalu

[D] Mt K2

96. “@Quulleorr Wev @BH WM 2019" 66T
WY GSGLLUUL(6Tem  &ID6T [me, 6hHs
LOITB6VE & 6UITTEUITIT?

[Al & MrTag T

[B] @ megerugmeot

[Clegrrs

D] 2 557UlFCs&FID

Suman Rao, who has been crowned Femina Miss
India World 2019, is from which state?

[A] Maharashtra

[B] Rajasthan

[C] Gujarat

[D] Uttar Pradesh

97. &HGeumeumsHWmelledr (WPHL @ LIGOT
BUTTE LgNGWMmIeTemeuy Wmy?

[A]l GsTeoTT SLGLTeUT

[B] &1L flwimeorm &@FO@LIWY

[C] 2601 GaHTGLEGTTEUT

[D] &8 &CrmQeTGrmeurT

Who has been sworn-in as the first female
President of Slovakia?

[A] Zuzana Caputova

[B] Adriana Karembeu

[C] Jana Kolesarova

[D] Suzie Kronerova

98. 2019 @ev The Human Exploration Rover
Challenge GUTLIqemW BLSHW 6uTeoiluiev
1Bl MI6U6OTLD 6TSI?

[A] Roscosmos

[B] JAXA

[CIISRO

[D]NASA

The Human Exploration Rover Challenge 2019 has
recently conducted by which of the following
space agencies?

[A] Roscosmos
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[B] JAXA

[C]ISRO

[D]NASA

99. 2019 World Haemophilia Day (WHD)
&) 6078 B) 60T &(IH L1 G\ LI IT(H 6T 6T60T60T?

[A] Outreach and Identification

[B] Treatment for All, The Vision of All

[C] Sharing Knowledge Makes Us Stronger

[D] Hear their voices

What is the theme of the 2019 World Haemophilia
Day (WHD)?

[A] Outreach and Identification

[B] Treatment for All, The Vision of All

[C] Sharing Knowledge Makes Us Stronger
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[D] Hear their voices

100. 6TH s @ HH W Bl MI6U6DTLD, 6UMISH LM MILD
BI& L leysEnsams 5G Lab
2_(Heums&RwGI?

[A]IRDA

[B] SIDBI

[CI RBI

[D] NHB

Which Indian institution has launched a 5G Lab for
banking and financial sector?

[A]IRDA

[B] SIDBI

[CI RBI

[D] NHB
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Group 4 VAO General Studies Model Test 18 — Answer Key

O
>
fo)
fo)
fo)
fo)

A A A A
1) B 21) C 41) B 61) C 8l) D
2) D 22) D 42) D 62) B 82) C
3) C 23) D 43) A 63) A 83) B
4) D 24) B 44) C 64) C 84) D
5) A 25) D 45) D 65) C 85) A
6) A 26) A 46) B 66) D 86) D
7) B 27) B 47) D 67) A 87) A
8) C 28) B 48) A 689) D 88) C
9) D 29) D 49) A 69) A 89) D
10) A 30) C 50) B 70) B 90) A
11) C 31) A 51) C 71) C 91) D
12) B 32) B 52) D 72) C 92) B
13) D 33) B 53) A 73) A 93) B
14) D 34) C 54) D 74) A 94) A
15) B 35) A 55) B 75) D 95) B
16) C 36) B 56) C 76) C 96) B
17) C 37) D 57) D 77) D 97) A
18) D 38) C 58) A 78) A 98) D
19) A 39) A 59) C 79) C 99) A
20) B 40) C 60) B 80) A |10 | C
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